W3 - Solving Linear Systems by ELMINATION
MPM2D

1) Solve using the method of elimination

a) fiix+y=2

£,:3x—y=2
J o kty= BN sub =l e A
fi- 3x-h=% + Ay =,
Uy =Y ATt
9(:,( %:[

5dlLA.‘HOV\; Y= | , lj:\

c) £1:3x+3y =7
Lryx+y=3

= %1(-\—3317
Jih dmanz -

0% +03:—9\

No 0lurons. The lesare
[QN"GL“QL and distinct.

b)

d)

2) Find the point of intersection of each pair of lines

a) Liix+2y=2

£,:3x +5y =4
AxA 2 Tt QLj = b Sub Upd e A
L~ 3 46\3'—'1 - RACTIEE
—_— ) =
3 -g\ %;Lf:a\
L= &

Solbﬂ'idf\f’ Y=-ay L\’): &

b)

-Bl:x—y=—1
£:3x +y=-7

f]“o’)c“%:'[
o vy =7 4

y = -9
v=-2

salution %= -2, y =~ |

£1:5x + 2y = —-11
£,:3x+ 2y =-9

L= 5« +13:~ll
[ x {—13 = -O] _

aﬁﬁ@w'kc4)3:—3

£1:3x + 5y =12
ty:2x—y=-5

L= 3x +‘5t\.3 =l
Syfy = [0y —53 2 -39 4

Bx = -I13
%=

<o\ uton & %’——()(3:3

5“-’0 K==L iﬂ’co 4&:

x4 |
-d-4=-|
_,]—_;j

suo U=—(ins £
3wwjﬁ’?
3en+a3=—ﬂ
,3+;Lj = -9
lﬁ: -6
473

ﬂu)o Yz—{ into /K;(

20/~|:>’~'5
2 -9=-5
/;L{-S:.Lj
4=3











































































































c) £1:3x+y =13
£,:2x + 3y =18

Luh = 43y =39
b e tiyl® o
X *3

sub x=3 into 4

3%{—3 1[3
IGTY=3

°{+3’—13
wW=Y

salution vy 23,47 L(

3) Solve by elimination

a) $1:3x —2y =5
£y:2x + 3y =12

wd > -y = 1Q
Q= bxtly =36 _
AN B
—[33:-&6

373

Sub Y=2 Inte /3,

4:)&35:'3\
dy ¥3L2) =1
Ay +6 =l
=&
L =3

Salittien X =3, W=

c) £1:3a—4b =10

£,:5a —12b = 6

3x 9o -l 230
/{l”’ Sa. —ldY =6 -
‘—_,___,—/
Ya = 34

a=6

Solikion + @26, b =2

<ub a=6 irta 4
-SCL_qb =10
&) ~¥b=10

1%-10 =4b
{zﬁ/)c)
b=2

d) £1:6x + 5y =12

£,:3x—4y =6
4L~ bx + 53 = sub Y=o into 9,
ay b~ Gy -¥y = - bresy =12
24 =0 br5¢a) =1
- SN
379 1=2

<plution s =3, w=0

b) £1:5m+2n=>5
£,:2m+ 3n =13

1x f= lom tHn = 16
5 oda 0m 5N =€5 _

lin = -59
n=>5

solion: m=-, h=56

d  ¢;:3h—4k=5
£,:5h + 3k = —11

2y g @ h-ak =15
ukla*)w
291 = -9
h=-l

sdon=5 inks D)

S+ an=5
Sim +2(5)= 5
5mtlo=5
5m=-5

m<-—|

3Wb bl into La,
Sh +3K ==
5¢-1) ¥3K =-1|
~5+3K =11
3k =-¢€
K=-2

Solution 3 h=={) K=-d








































































































4) Mehrad works in a department store selling sports equipment. Baseball gloves cost $29 each and bats cost
$14 each. One shift, he sells 28 items. His receipts total $647.

a) How many bats did Mehrab sell?

Yz ¥ of gldes ®© %%3‘; oL ¥ sub x =17 f/\-k)@

W= # oF bats @y +ly =617 yry =
|7 1;13: 2AH

]L/)((D"-’ H’JM—WB:SCU\ (ﬁ: u
@ 2oty = 9T -
-5y = 7435 Mehrak solel 1| b
L =17
b) How many gloves did he sell?
[/ a)due’ﬁ

5) Maria rented the same car twice in one month. She paid $180 the first time for 3 days and she drove a total
of 150 km. The next time, she also paid $180 and had the vehicle for only 2 days, but travelled 400 km.

a) What was the cost per day?

=] at
Y= otk pordal (1) By 4 150y = 199 sub g s O
ot po b Ay tH00y = LFO k5o =180
0 a o J a+!5G A =180
w0 6L 399y = 360 31+ 30 = [0
1@ 6z {,lacﬁlb Z540 — X =150
vQOOL:): - g (=50
Y=o §50 per dayy

b) What was the cost per km?

&O-Q\O per K

Answers:

l)a)x =1,y=1 b)x = -2,y =—1 c)nosolutionsd)x = -1,y = -3
2)a) (—2,2) b)(—1,3) c)(3,4) d)(2,0)

3)a)x =3,y=2 bpm=-1,n=5 ¢cJa=6,b=2 d)h=-1,k=-2
4)a) 11 b) 17

5)a) $50/day b) $0.20/km




















































































